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QUESTION 1

You finished configuring a not Real Time Change (not RTC)-supported configuration element and you want to apply the
change in your service.

Which two options are valid in order toaccomplish this? (Choose two.)

A. From user mode, execute the save-config and activate-config commands.

B. From configuration mode, execute the save-config, activate-config, and reboot commands.
C. From superuser mode, execute the save-config and activate-config and reboot commands.
D. From superuser mode, execute the save-config and activate-config commands.

E. From superuser mode, execute the save-config, activate-config, and reboot force commands.

Correct Answer: AD

QUESTION 2
Which statement is true about Session Border Controller architectures andrealm bridging?

A. The Hosted NAT Traversal (HNT) architecture focuses on the border point between two different service provider
networks, both in the home realm.

B. The Hosted IP architecture focuses on the border point between one enterprise network realm and one service
provider network realm.

C. The Access-backbone architecture focuses on the border point between two backbone realms.

D. The Peering architecture focuses on the border point between two different service provider networks and
theirrealms.

E. The Gateway architecture Focuses on the border point between one enterprise network realm and one service
provider network realm.

Correct Answer: B

QUESTION 3

Which three statements are true about the bootloader? (Choose three.)
A. It decompresses the image file and loads it into the main RAM

B. It reads the imagefile

C. Itis based on Linux

D. It looks at the boot parameters
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E. Itis a Windriver\\'s VxWork product

Correct Answer: ABD

QUESTION 4
Which configuration step is correct for a phy-interface configuration element used for signaling and/or media?

A. A phy-interface elementmust be configured for each interface used for High Availability (HA) heartbeats, but not for
signaling and/or media.

B. After configuring a phy-interface configuration element for signaling and/or media, a reboot of the Session Border
Controller is required.

C. A phy-interface configuration element must be configured for each interface used.
D. A unique phy-interface configuration element is created for all signaling/media interfaces.
E. A phy-interface configuration element for signaling and/or media hasthe operation-type parameter set to control.

Correct Answer: B

QUESTION 5

You are logged in to the Session Border Controller a superuser. You want to remove other user from the system.
How do you accomplish this?

A. from the superuser mode, by executing the remove user command

B. from the user mode, by executing the kill command

C. from the superuser mode, by executing the remove user command

D. from the superuser mode, by executing the kill command

E. from the user mode, by executing the remove user command

Correct Answer: C
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